
Fi
tti

ng
 in

st
ru

ct
io

ns
M

ak
e:

Fr
ee

la
nd

er
; 2

00
6-

>
La

nd
 R

ov
er

Ty
pe

:
42

48



4248/174248/17
4248/34248/3

4248/44248/4

95864769586476

95312429531242

95353259535325

95200799520079
M14x90+CP (10.9)

M10x35 (10.9)

M10x35 (10.9)
M12x90 (10.9)

M6x20 (10.9)

© 424870MN/20-02-2014/1

© 424870MN/20-02-2014/14



© 424870MN/20-02-2014/13

4248

(2x) M14x90+CP (10.9)

4248

  
 

USER MANUAL 
Thule BMA

(2x) M6

(4x) M10

(2x) M6x20 (10.9) 

(6x) M10x35 (10.9) 

(2x) M12

(2x) M12x90 (10.9) 

© 424870MN/20-02-2014/2



tested
euro

Approved

Approved

Approved

E11 55R 015807

10

17 19

RAYMOND

kg

kg ?

150 kg

10.9

© 424870MN/20-02-2014/3

D-Value :        kN

ECE R55

Couplingsclass: A50-X

11,0

MODIFICATION?

© 424870MN/20-02-2014/12

Montagehandleiding

F itting instructions

Montageanleitung

Instructions de montage

Monteringsanvisningar

Montagevejledning

Instrucciones de montaje

Istruzioni per il montaggio

Instrukcja montażu

Asennusohjeet

Pokyny k montáži

S zerelés i útmutató

уководстводлямонтажа

NLGBDFSDKE

IPLS FCZHRU S

Fitting instructions

C3II; DS3; 2009->5267

24



© 424870MN/20-02-2014/11

20

21

 

22

thule.com
  CARLOS
approved compliant

USER MANUAL 
Thule BMA

TÜV TÜV

23

 

HINWEISE:

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβdie höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβStVZO anbringen.

© 424870MN/20-02-2014/4

0km
+

1000km

NOTE:

* Should this installation process entail the cutting of the bumper –
conformation MUST be obtained by the installation engineer of
the customer’s acceptance prior to completion. Brink International
do not accept responsibility for any matters arising as a result of
this miscommunication.



2

1 3

© 424870MN/20-02-2014/5

 
 

4

Template Template

Template

19
© 424870MN/20-02-2014/10



104Nmx2

17

15Nmx2

18
© 424870MN/20-02-2014/9

5

x2 x2

6

© 424870MN/20-02-2014/6

8

7



9

x2

x1

10

© 424870MN/20-02-2014/7

175Nm12

x3

11

175Nm13

30Nm14
© 424870MN/20-02-2014/8

60Nm
16

60Nm15





C
EN

TE
R

LI
N

E 
VE

H
IC

LE

121

13
5

DRILL 2 PLACES DIA 20mm

BOTTOM LINE
OF BUMPER

ALL DIMENSIONS IN mm UNLESS OTHERWISE STATED

302010 40 50 60 70 80 90 100

Template 4248/4249/4357



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: large enough for 100% scale
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20140124081553
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     184
     430
    
     0
     Sufficient
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





